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DISPLAY CONTRAST
To increase the contrast, hold down the green diamond key (4) and the + sign
To decrease the contrast, hold down the green diamond key (#) and the - sign

LAYOUT OF THE KEYBOARD

Many keys on the calculator have more than one function:

a) what is written on the key in white lettering (just press the key)

b) what is written above the key in green lettering (press green diamond 4, located
row 3, column A)

c) what is written above the key in yellow lettering (press 2nd, located row 2, column A)
d) what is written above the key in purple lettering (press alpha, row 3, column B)

e) the © (shift or up arrow key, row 2, column B) is used to capitalize a letter.

Function keys (8 of them F1-F8) below the calculator screen.

Special keys:

€ green diamond key (row 3, column A, shortcut for Y=, Window, Graph, TbhiSet,
Table, Cut, Copy, Paste, =, Del)

2nd yellow key (row 2, column A, access to functions printed in yellow above the

key)
Four Cursor keys (left, right, up, down arrow keys)
ENTER keys (row 10, column E)
ESC key (row 2, column C)
LAYOUT OF SCREEN
/— Toolbar
EEHJH.I; E I:Tr'-:l EF-J?:IE ufr';'-z' r'IF' FE?'nID].E1tFuEnTUPm
Last o “"'"Ki/— History
Entry d 1 Area
IEI:IH':K'FH:':' :?{+|=|
Entry N 1lim [%T] 1;%
Line w0
——{Expandt taty oy — |Last
HAIN RAD AUTO FUML 770 Answer
Status Line
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LAYOUT OF SCREEN

The top row is the Toolbar for the F1-F6 keys

The next area, called the “History Area,” may show up to 5 rows of print; keeps a record of
your entry/answer pairs

The Entry line is between two horizontal lines.

Below the entry line is the Status Line - current state of your calculator.

SETTINGS

To clear the home screen, press F1 and choose #8:Clear Home, press CLEAR if there is
something on the insert line. For this worksheet, change the MODE (row 4, column B)
settings of your calculator to look like the screen below. Press ENTER to select what you
have highlighted. Press ESC to return to the home screen.

[f’ MIODE “‘*] [f’ HMODE “‘*] [f’ MIODE “‘*]
F1 ] Fe = F1 ] Fe Fz F1 ] Fe =
Fade 1|Fads z|Fade = Fade 1|Fade z|Fade = Fade 1|Fads z|Fade =
TR FUHCTION + SpTiE SEFERN . FULL * = Unit S¥EEERY e B
CurFent Folder ....... rain # ZeTit 1 APF.. TS I T TR I )
Disp1ay Didits........... FLOAT &%+ EPE R
DATR cenrescsessnssossnns FADIAM Sra :
Exponcntiai Format MORMAL *
Complex Formak..... EEHRL
Yector Farrat........ RECTAMGLULAR *
FF&EEY Frink.... ... N+ .
-|' Enter==AVE ESC=CAMCEL o2 & -|' Enter==AUE ESC=CAMCEL o2 -|' Enter==AVE ESC=CAMCEL o2 &
UZE % AWD + 70 OFEM CHOICES UZE % AMD * 70 OFEN CHOICES UZE % AWD + 70 OFEM CHOICES

Exact: Any result that is not a whole number is displayed in a fractional or symbolic form
(213, W4, 2V2)

Approximate: All numeric results, where possible, are displayed in floating-point (decimal)
form.

Auto: Uses Exact form where possible, but uses the Approximate form when entry contains
a decimal point.

Accuracy: Floating-point decimal values in memory are stored using up to 14 digits with a 3-
digit exponent. Integer values in memory are stored using up to 614 digits. The TI-89 carries
more digits internally than it displays.

OPERATIONS

2+3*4, ENTER 14
2+3*4., ENTER (notice a decimal in one number of the expression determines that the
answer will be printed with a decimal point) 14.
3%, (type 372, ™ row 5, column E, notice the pretty print), ENTER 9

V9, (square root, row 7, column E), (remember right parenthesis), ENTER 3

2° (275, use " (row 5, col E) to raise a number to a power) 32
§/32 (327(1/5)) 2
Add 7/8 and 3/5 59/40
Use Green Diamond (4) and ENTER 1.475
Write 59/40 as a mixed number 1+ 19/40
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Fir| F&= |F3=| Fi= | FE Fa=
Too15]A13ckea|Calc|0ther |FEamibjCTean Ur

Fir Fer Fir| Fy~ FE Fa~ Fi-~ Fer FZr| FYy- FE FE~ Fir Fer Fir| Fy~ FE Fa~
Tools|AldcbralCalc|0ther|FrAmi0|Clsan e Toals|A1dcbralCalc|0kher|Framl0{Cl<an U Tools|AldcbralCalc|0ther|FrAmi0|Clsan e
mS 4+ 5 -d 14 = T 0 T T
"z +3-4, 14.| |m 32 3
.3l gl (=I5 3

5
[ | [ |
E 3 e 32 |m7rg + 305 5940
mgs 32| w3zl 2| |m7eg+ 305 1.475
=157 T

HAlM FERD AUTO FUMC ] FHMAlM EAD AUTO FUMC [ Tacil] FERD AUTO FUMC ]

Fi

2itactorg

Jiexpandl

4:zerosy

Siapprnx(
n 7 ApeahzonD S9.40
L 1.475
Ljﬂuﬂ RAD AUTO FUME PR

mFSE+ 300 S9.-40
B 7SS+ A5 1.475
B propFrac 59450 1+ 19-40

propFrac i S3-400

HMAIW EAD AUTO FUNC el

Factorial, Factor, Expand, Solve, Zeros Commands
20! can be entered two ways. One way, using the MATH key and 7: Probability menu 1: !, a
second way using the short cut. To find the short cut for !, activate the keyboard map with

@ K. Note that factorial is ¢ +.

Fi~ [ Fzr]l FY- FE
Tao FATH

FE~
B|c1can e

Fir]l Fg~ [F2-] FY-
Tu MATH

FE

FB~
B|c1can e

FMAIN FEAD AUTO 020

Fix| F&= [F3=| Fi=| FE FB~
Touls|A13cbra|Calc|Okhgr |FrarmlO{CTean Ur

FUMC

m 243202E02] PS4 DEEN
oy
HAIN RAD AUTO FUHE i/=0

I
ThCE

Irandr
randHorml (=
tRandSesd
randiat. | k

b e e e i

CO=JT iy

trandPolyl

TYFE OF UZE £%14 + [EMTER] OF [EZC]

T — T T ——————
E * GREEK & ZYIDATR ! j
=1 ] G1 L [
FHMT EEDFREGHM 7 - 3 &
=] L1 [
EYME EEDFRGHM Y4 - B
CEE] [&] ]
al EEDFRGHM 1 - 3
EH
OFF H * HOMEDATA
= (o] —
USE [#]1 [KEYZ] OF CESCI=CAMCEL

A choice was made not to clutter the keyboard with all the special characters.

Factor the answer given for 20! Either type the word “factor”, or under the F2:Algebra menu,
select 2:factor(, or press CATALOG (row 4 column C) select factor( by pressing ENTER once
it is highlighted in the list. In the Entry line, type factor(ans(1)). Note ans and entry are
found over the (-) and ENTER keys.

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

w20 S5iapproxe  B1TEE40000( |w 20! 24329020081 TEE4AEAG
mypgy SicomDenomt hogrecdnmip| |m factord 24329020051 FEELOMP
FipropFrace 18 -8 cd o2
m 2! 24320020051 7ESADEAG 2l SnSolwed  |1-13-17-19 olE z8 5% . 78.11.13.17 149
Factorl2ds o0 ool rEednin.. | [factort 2432 90200 1 F 6aatan. .
HAlM FERD AUTO FUMC 130 FHMAlM EAD AUTO FUMC ] HAlM FERD AUTO FUMC ]
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Expand (x+y)°, then factor the expansion! To expand this expression in general, use the with
(Dcommand (row 7,column A) with n = 3, then 4, etc. A list can be used to do multiple
expansions in the same command.

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

Fir| Fer |F3~| Fir | FE FEr
Tools|A13cbrajCalc|ither|FramidjClsan Ur

- E-}::pand[[:{ + H:IS]
w2+ 5wt g+ 18T g+ Lk
g+ 1m-xp
(3 + )

+ 5k Y g4 Y 5
FLUMC

L Factnr‘[}:ﬁ +5-x

L D™ 2
FMAIN

:+:|=|""'__j
EAD ALUTO

R

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

u expand[[}: +u1" [ m= 3]

3 2,

2O+ 3w w43 owud 4y

" E-:-::pand[l:x +y" | n= 3]

3

:x: +3-:-=:2

24,3

le:-::pand[[x+u:ln|n— £3 4 b

":|+3'K":|

expandl Cxtygathln=43; 4, 53 1]

expand(i:ﬁl-_l}“nln {3,4,5}}

MAIM FEAD AUTO FUMNC 1,20

Fir| Fer |F3~| Fir | FE FEr
Tools|A13cbrajCalc|ither|FramidjClsan Ur

- 4]
(= 2) (2 + 2)

w< + 4

® factorl xe

u Factnr‘*[xz + 4]

lc,Fac,t,-:nr*[:{ +4]
[+ -2-41[x+2-1)

cfactor ™2
FAIN

KAD HIJTI] FUMC 330

lFat:t.u:nr*[:{E—E] :{2—2
u Factor‘[xz -2, }:]
[ +.JZ) [ - [Z)

factorix™2-2,x
HAIN

RAD AUTO

FUNC )

MAIN EAD AUTO FUMC i’z |

Notice how the TI-89 factors x? - 4, X° + 4, X’ - 2. By placing the variable after the expression,
the expression is factored as much as possible toward real factors that are linear, even if it
introduces irrational constants. A “cFactor” was necessary before factoring complex roots.

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

Fir| Fer |F3~| Fir | FE FEr
Tools|A13cbrajCalc|ither|FramidjClsan Ur

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

mzolyelxs -2 =0, x]
w= =2 ar w=[Z
IEDlue[x2+2=El,x]
IGSDIUE[}:2+2=EI,}:]
w= -2 % ar w=[Zi
HAlN RRD RUTD . FUFE eV

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

false

BcColvel s+ b =0, x]

¥=-["b or x=["h

lcSnlue[a-x2+b-x+c=ﬂ,}:]
_db®-d4-2c-b o
=5 ar x=-

ceolue i g

“2+bhkto=0, w
MAIM FEAD AUTO FUMNC )

Fir| Fer |F3~| Fir | FE FEr
Tools|A13cbrajCalc|ither|FramidjClsan Ur

-IEPDEI:E'K2+|:I'}=Z+E-,}=Z:]

(T b] 75,
2 a

'- s 0 ek

FAIN 1/20

24+
RH[I AUTO

FIJHII

lzer‘n5[a-:{2+b-x+c,:{]
qa-c,+b] .|b2—4-a-i:—b}
a 2-a

Zeros L akx
HAIM

RH[I HIJTI] FIJHII

BoSoluelws + b =0, ]
¥=-["b ar x=J]"hb

2+h “+oc =0, :-::]

[b2—4ac,+b]

li:Su:nlue[a s

1 or =

Ea

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

Solving Linear Equations Showing All the Steps

Fir| Fer |F3~| Fir | FE FEr
Tools|A13cbrajCalc|ither|FramidjClsan Ur

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

Done

B NewProb
Bl w—0=6-x+6
Z2x—-3=6'x+56

B2 x-S9=6-x+6]+3
2-x=6-x+11

R w-—O=k-x+6
2 x-S9=6-x+6
B2 x-S =F-x+E1+5
2-w=6-x+11
B2 x=6-x+111-6-x

MAIN KAD HIJTI] FUMC 330

4o =11
':: E:"‘: ::-::=E| ++ 1 1 ::l —E. e
HMAIN FAD AUTO

FUNC b Fcd))

B H-—S=G - m+tB]+
2-m=6-x+11
B2 x=G-x+111-6-x
4w =11

e x=-11-4

RH[I AUTO FUMC 520
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Fi=] F&x |Fa~| Fi=]| FE FE~-
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur
[ R-b R +ILl-&"
4-x=11
4w =11
.—— =" 11-4
£l
mZx-S=6-x+E|x=-11-4
Liue
|HHIH EAD AUTO FUMC 630

Exploring Repeating Decimals

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

Fir| Fer |F3~| Fir | FE FEr
Tools|A13cbrajCalc|ither|FramidjClsan Ur

® HewProb Oone

B =30161616161616]1 + «
n=3.16l61616162

= EE
108-n=316.161616162%

ol 101l 99-n=313.

Qokp=312. 99939993399

HAIN RAD AUTO FUHE QFET

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

m D
100-n=316. 161615162
LN 010 R 2991 =313,
B=nluel99 -1 =313, R
" 13
EE

solue(99n=313, 1l

MAIM FEAD AUTO

FUMNC

Fir| Fer |F3~| Fir | FE FEr
Tools|A13cbrajCalc|ither|FramidjClsan Ur

)

® HewProb Oone

Bp= L 12121212121212 +
n=.121212121212

h=.121212121212

B
1oa-n=12.1212121212
B0 x — x 99 -n =12,
Bopnluel99-n=12, 1)
n=4s33

L0 O
log-n=12.1212121212

w0 — 99-n =12,

Sokpn=12.]

MAIN RAD AUTO FUME CRET]

so0lye{394n=12,n}

MAIM EAD AUTO FUNC )

Try n=1.23555555...

Algebraic Fractions

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

Partial Fraction Expansion

Fir| Fer |F3~| Fir | FE FEr
Tools|A13cbrajCalc|ither|FramidjClsan Ur

] d KE
msn [I:x - 11522 - 4]]
-1 g

9 (x+2] Dlxm-11 Tl

z
lexpand[ it ]
(3= 1% (2 - 4]
1
-1 - 3-[:{—1]2 Tx-2

expand (x™2 0 0x—1 320 2—d..

L ™A O =] DR e R 0 D

HAIN RAD AUTO FUME 1/z0 | [MAIM RAD AUTO FUNE 120
Fi~] Fe- |Fa-| Fur] FE B~ Fi-] Fe- |Fa=| Fa=] FE FE~ Fi~] Fe- |Fa-| Fur] FE B~
Tools|A13cbra|Calc|Other|FramID|C1can Uk Tools[f13cbra|Calc|Other|FFamID|CTcan Uk Tools|A13cbra|Calc|Other|FramID|C1can Uk
] —_— — el
i:-:umDencuml vl J wl gy
2-m+l 2w+l 1 1
1 1 —| |® expand +—
= — +
GDNDEHDN[K Ml | wl ou wl ou w4l o om
2w+ 2w+ 1 1 2w+ 2w+
—= | " expandl— =71 T | " Pactor|—= Tot 1
i W+ il S we[x )
expandC CEkx+] 202t tactor (K 2x+] 0 ™24 2 factor(CZ2kx+] - 2+
HAIN AL AUTO FUME i/z0 | [MAIM RAD AUTO FUME zez0 | |MAIN RAD ALTO ML R

Notice if the degree of the numerator is lower than the degree of the denominator, the same
fraction returns; if the degree of the numerator is the same degree as the denominator, or
higher than the degree as the denominator, then the partial fractions are returned.

©Hofmann, 2001

Columbus 89




|TEH:|H13FE§N|-:Fu?i::|ufr?§r|rr5iﬂu|-:1-zFuEn'u:~| | |TEi7:|n1;Eﬁru|-:?1::|ufrl.'-z'r|rrrai-.|u|-:1-zruﬁn'u:~| | |TEH:|H13FE§N|-:Fu?i::|ufr?§r|rr5iﬂu|-:1-zFuEn'u:~| |
®E—Fm+ 2 HE =3 m+ 2
® 22 3
u pr*n:-pFr*ai:[E—] B propFrac 2— ® propFrac =
HE—3-x+ 2 -3 =+2 HE—3-x+ 2
. # Fruw— 2 +1 ¥ ®E—5G T
wE=F-mw+ 2
propFrac G ol ™ Ttz ) o -'-|: Frac (2 (™ 2—3 . ) Pt .
HAIN FAD AUTO FUNE 1/z0 | |HAIM A ALTD FUNE zezn | [MAIN D BT FUNE 330
I_Solve =3
Fi~| Fe-
Tools|2aan
“FLOT= :{min=‘;4.
—T ¥ ®Max=d.
"l 33 wacl=1.
2= ymin=-3.
L | dmax=a.
d= yscl=10.
go= w“res=1.,
UE=
i twa=
AN FAD AOTO FUNL MAIN RAD AOTO FUNEC MAIN FAD ALT FUNL
T FRel s Fi : B Fi
THELE ZETUF ™y B
: - 1 uz ~FLOT:
th1start: L 51 0. 0455, 261 y1=3%
At Kl 2.2 1. Z1Z7[10. 648 g2 S
Grarh <-> Table: OFF s Z.514|12. 167] ._.-HEzill:K:, — g2
. . 2.4 S.967|13.824 g
Indsrendent (AITT e 25 = Eer e
A ¢ EECZCANCEL & ) HE=
I I= g2ixa=15.625 g iwa=
UZE « AWD * 70 OFEM CHOIES MAIN AN FAD AOTO FUNL

FEAD AUTO FUMNC

Fir | Fex |F3v| F4r | FE Fh~
Touls|a13cbralCalc|okher|Framiofcizan ue
= x
2.1 2.1
2.2 2.4
2.3 2.1
2.4 2.4
Z.5 Z.49 | -.0261 " solue(ylix = g2ix, x)
| | ®¥=3. o ®x=2. 4?8@5268@29
g3xa=-, 03654273188 YACxa= -, QAE3 1 26EE7ES solueiyl Cxl=y2ixd, x)
TAIN RAD AUTO FUMC HAIN RAD AUTO FUNC Hlarnind: Mor e solutiohs rmay -z:-:::t
®o 2. 48 [ o g o A i
FIRIN RAD AT FUMC
©Hofmann, 2001 Columbus 89 7




Trlgonometrlc Equations

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tool5|A13¢bra l:uh: Other F‘r’ﬂmll] Clgan Ur

51: E'I: 13-m
)

= E.-:ulue[[tan(xjj +1=

L2
FAIN

[cosl:
tLrue

+1=1~
RAD AUTD

rur-l-: 7T

EE m Fi-| Fe= |Few| F4= | FE FG+ I_] Fir| Fe= |[FE=| Fur | FE FE~ D
Sk |T-:-n:-15|H13-zl:-r'ull:u1c|l]th-zr'|Pr'3mII]|l:1-z-:|n ur |T-:--:-1:|H13-zl:-r'u|Eu1c|l]th-zr'|F‘r'3mll]|l:1-z-:|n ur
oo _[d-Enl+1|'n _&'m
mzoluelsinix)- cos{x=)= 12, = ) ETZ
_|:4'EH1+1:|'J'[ 4811 + 111 4-Bnl +1)-m
- =%|En1=1 =%|En1={1"
_ _a-nm 5 -m 9-nm 13-m
- HETg £l £l
w=0dkPnl+] dkmod | Bhl=1 dEnl 4] kneod [Bnl=41.2, 33 +I-‘r|1+1 -+T: dlEnl=L1,2, 33
FAIN FAD ALUTO FUMLC 173 | [MAIH EAD AUTO FUML EZET EHD AUTD FUML IYET

Note that @nl in the example above represents the first arbitrary integer that has appeared
in this session. To evaluate some of the answers, highlight and paste the answer in the entry
line and use the with | operator (row 7, column A) to assign a list of values to @nl. Use ¢

STO to get the @ symbol.

The Solve command returns “false” if no real solutions are found, “true” when solve can
determine that any finite real value of varlable satisfies the e

Fix| F&= [F3=| Fi=| FE FB~
Touls|A13cbra|Calc|Okhgr |FrarmlO{CTean Ur

uation or mequallty

Dore

= b

= HeProb

L EDlue[taHEE-xj —m

¥ = ? 85398 or s = E EIEIE-?E!F

8 HewProb Dore| |= HewProb Dore
1 -
" E-Dl'-.-'E'[ Lani 2w - oD Ch| [m E.-:ulue[tanI:E e m d ]
3 = 5. 51739 ok x=1.
ueitani?x}— Stantxi=n, = ueitan(?x}— “tantxi= EI,:{}
HRIN RAD AUTO FUMC Loz | |Haie RAD AUTO FUME i’z

A useful function for simulations.

The function will be called randint(lower, upper, number

rasta contronliZi] arlrine.. Mo
HEH

TF:I.;I RFFLICATIONE [Tn” AFFLICATIONG
o L]
1:Home 1:Home
Sl
3i6 4: Em ﬁw itor Top 1! Froaram
: ra .
=T S5:T Faldir:
=H] =1 Datafﬁatm:{ Editare Variabls:
1:Current
2 1tor k S1ipen. .. itar 3 Enter=0KE EZL=CAMCEL
MAIN RAD AUTO FUME 0oz0 | [HMAIM RAD AUTO FUML u°z0 | |HAIN RAD AUTO FUME
Fe- F'1 FG= Fi-]_ Fz- Fu={ FE | FG= Fi- =={Fu- FE | FG=
T-:--:-1: Fun-:l Mod Touls|Contk ol |.Ju var|Find...|Mods Touls 140 |Yar|Find...|Meds
HEH K Eandmti[ﬁ =Ea 1:I¢+
Tere Fumction s : (BTt ;IEu % IF...Then 3
Folder:  radin® :EndFunc By 4: Fn:-r* Enanr‘ .
Variable: : LEnddblkile
Enter=0K E5C=CAMLEL
MAIM_ WG RAD AUTO FUME MAIM_ W RAD AUTO FUNC MAIN RAD AUTO FUME
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Fix| Fex |Fz+Fu+ FE | FG+ 1 Fi=] Fex [Fav| Fa=] FE FG+ I_] Fi~] Fex |F3v| Fur] FE FG+ ﬁ
Tools|Conkral|lf0 |War|Find...[Hade |T-:-n:-15|H1Ehzl:-r'ull:u1c|l]l:h-zr'|Pr'£ImII]|l:1-zun Ue |T-:--:-1=|H13-zl:-r'u|Eu1c|l]th-zr'|Pr'3mll]|l:1-z-:|n Ue
spanointel.u.n = randint(3, 5, 16)
tReturn seqll-l+randiu-1+1 3053 3 4 3 3 3
-E’dﬁ 'r‘andint(l,ﬁ, ?:l
s Endrunc €2 5 2 I 4 1 13

B prgndint(3, 5, 10 W rgndintll, 3, 7
t3 3 3 4 3 3 5 3 1 3 3 3 2 1 2
rldlrlt' Rao, 100 |-J1r|t'. DAl
HAIN FAD AUTO FUNE HAIN RAD AUTO FUNE 10 | [MAIM RAD AUTO FUNE 330

Random Polynomial

To generate a polynomial with random integer coefficients between -9 and 9, select the
MATH key (row 8, column C), then 7:Probability, then 6:RandSeed. After seeding the
random number generator, go back to that same menu and choose 8:randPoly(, make the
random polynomial of degree 5 in the variable x. The function can then be differentiated.
The roots can be found for both the first and second derivative.

Flrl Fe= IFew] F4r1| FE FE= Fizl Fe= IFeel F4~1 FE B+ Fir| Few |Fzv| Fur| FE FE=
To MATH 0|C1ean Ur To MATH D|C1zan Ur Tools|A13cbra|Calc|Other |Frami0|Clcan Ur
1 Humber k 1 : Humber k -
SiAnale , , REandSeed 123 Oone
E:hlit_ k g nF'r*'i 3 ®andPolyl=, S
tMatrix k SERCET k g _ . e R A
EEEN lei 3 a:rande b ® AL R - R 4-p
k k
atistics St randHorm g (PR B, S SR S IV B
=18 ] I Fan F] Oaone
L PrandPolys 2
HAIN FAD AOTO FUNL oezn | |HAIM RAD AUTO FUNC uezn | (MAIN RAD AOTO FUNL R
['F:I.v'[ rzvl ‘l ['F:I.v'[ Fer IrhI FHv'[ FE I B+ I ‘l T
Tools[2aoam Tools|ATAcbra|Calc|0ther|FramidjClsan Ue
“=min=-35.
®Max=0. =L R I S D -
“=c1=1,
amin=-10. kT extra T e wdogp
umaT=%D. Dore
it = C1rGraph Dote
B Graph =) Oone
Graph foxi
MAIN FAD AOTO FUNL HAIN RAD AOTO FUNC tozn | (MAN FAD ALT FUNE
Fir| Few |Fzv| Fur| FE FE= Fi~| Fer |FEv| Fa=| FE B+ Fir| Few |Fzv| Fur| FE FE=
Tools|a1debra|Calc|0ther |Framio|clean Ue Taols|i13cbra|Catc|other |[Framinfcican ue Tools|a1debra|Calc|0ther |Framio|clean Ue
i reia AT id-2 1114 -
4 it 2 z -z 5 5"
ST -4 wT+ 12w+ Eou P
[ry IEEPDE['S-K4—4-K3+12-:{"‘
L] EI: A
4 3 2 {E g -z 03, 3 2
SexT -4 wT + 12w+ G ox P 5 5 2wt - 12w+ 24w+ 8
f ) e o B i e PR AL Cwd, w, 20
FAD AOTO FUNL 1/z0 | |HAIN RAD AUTO FUKE 7izn | [MAIM RAD AOTO FUNC ERET]

Fix| F&= [F3=| Fi=| FE FB~
Touls|A13cbra|Calc|Okhgr |FrarmlO{CTean Ur

s
20T - 12w+ 24w + B
mzerosl 20 %S - 12 %% + 24P

{1 e _[ESM:]}

Each of the derivatives may be stored in y2(x), and y3(x). Choose different style to graph the
functions.
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FMAIN EAD AUT FUMC

Use the TI-89 to solve s

LEus |

YyS

(5 d ol el abrce e touncremue| | J 1

a4 :x:mir'|=5'5.

[FO0) + U300 Done . ATy
et “’Hsz Fix EETH—E%D.

d z umax=

v Fred] + w200 Dot d 1=5.
xLF) 3= 2 p ) deelsa:
'FEK:"*Hllixil Dake L dx
= gl Cxa=fixd
EAD AUTO FLUMC FAIW EAD AUTO FUMLC FHAIW EAD AUTO FLUMC

solueiegqy,yi+soly

MAIN EAD AUTO FUMC 620

Fir| Few |Fzv| Fur| FE FE= Fi~| Fer |FEv| Fa=| FE B+
|T-:--:-1:|H1£I-zl:-r'u|Eu1c|l]th-zr'|Pr'5mll]|l:1-z-:|n u»| | |T-:-n:-15|H15-zl:-r'-:||l:-:|1clﬂthtrl?rﬂmlultltun UPl |
2w+ 3I-u=12
® HewPraob Dorne| Mx—-2-u= -2+ eg2
mZox+3ou=12+eql ®o-Zod= o2
2w+ 3-y=12 ["solveieyl , x) + eqlforx
By -Zoy= -2 aql _ S -4
w—2-g= -2 2
W2 L soluetegl, xireyqlfory]
HAIN RAD AOTO FUNL =ezn | |HMAIN RAD AOTO FUNC [T
Fir| Few |Fzv| Fur| FE FE= Fi~| Fer |FEv| Fa=| FE B+
Tools|a1debra|Calc|0ther |Framio|clean Ue Taols|i13cbra|Catc|other |[Framinfcican ue
Z
6-51=-2
m ooz | eqlfor: + eqy
7oy ®zoluefeqy, )+ soly
& - = = -2 y=1&-7
mzoluelegy, ul + soly leqlf“u:ur‘x|5n:ulu+5nlx
g=1&6-7 w =187

eqltorxlsolyrsalx
MiIN RAD AUTO

FUNC

)

stems of equations step by steg
Far

=g |leglforx

oy
EAD AUTO

MAIN FUMC

New Example — System of Equations

Fix| F&= [F3=| Fi=| FE FB~
Touls|A13cbra|Calc|Okhgr |FrarmlO{CTean Ur

Fir| F&= |F3=| Fi= | FE Fa=
Too15]A13ckea|Calc|0ther |FEamibjCTean Ur

Fix| F&= [F3=| Fi=| FE FB~
Touls|A13cbra|Calc|Okhgr |FrarmlO{CTean Ur

Beolueld- =+ 4 9= 1v, =1

» HewProb Dane _ (4-y-17) l501uei2-x—3-g=il3,g)|x=i
BI-w+4-u=17 3 =417
Jort+td-y=17¥ -4-gy-1F
* o moolue(2 x -3 u=10,u)|x:P| |mx= L HS :I||=|=-'.‘|..-"1?
= 4;1? ®=91s17
Tbig=10, 10 | 3= -Cdkg—17 0 w=-(duy—173 3 | y=4.17

RAD ALTO FUNL e [MRiR RAD ALTO FLUNE e KAD ALTO FUNE B0
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Fix| F&= [F3=| Fi=| FE FB~
Touls|A13cbra|Calc|Okhgr |FrarmlO{CTean Ur

Fir| F&= |F3=| Fi= | FE Fa=
Too15]A13ckea|Calc|0ther |FEamibjCTean Ur
=

Fix| F&= [F3=| Fi=| FE FB~
Touls|A13cbra|Calc|Okhgr |FrarmlO{CTean Ur

R 91417
_ f4u-171 # =31

mrx=——a—— |u=417 "3ox+4ou=17 %= 9117 ark
®=91s17 true
BIox+d-y=17|x=91-17 arp| [W2-x-3-9=10|x=291-17 arp
Liue Liue

='=1-'_"|2=-=2='E'1.--'1F and g=4-17 =Z=-=:—.';-'-=+='=l=1EII::-::='E'1.-"17-" and y=..
FMAIN EAD AUTO FUMC ) HMAIW EAD AUTO FUNC B0

Converting from One Unit to Another

Convert Units of Measure

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

msmntf[; L[]
[91,-’1?

417 ]

Beplueli-x+4-g=17 and Zp
#»=9117 and y=4-17

LAF and 24—-Zdg=10, L, gt
HiIN EAD AUTD 0 ETET]

Fi=| F&r |Fi~]| Fi=r | FE Fa~
Tools|A13¢brajCalc|Other |Fr3mid|Clsan Ur

Jr-Ege N = L -

R ] 2-_mi —Mi —mi
=] —mi F_ud 1ved. - _ud 5 min " Fr 4. ~hr
m]-_mik_Fft 5280, - _ft 2 _mi mi mi .
m1_mik_in 63360, - _in = = 4. = p _2=hi b

- - - ~hr 30 _min _=
® 5 _acre k _ft
21780, - _ft°
+=_.a-:.r-er_+"+.. ZH_Mi- LAk _ming b _fLo_= _r-'|i.-" (0% _mind b _ft-_s
HAlM FERD AUTO =D Z0AE0 FHMAlM EAD AUTO =D 1.0 HAlM FERD AUTO =D Z0AE0

Convert a Temperature Value

Fi-r Fzr FZr| Fi~ FE FE~
|T-:--:-1:|H1£I-2I:-r'u|l2u1c|ﬂth-2FlPFSMII]lIIM-:In Up-l |
B LwpCrVid- 25, _*F)

32, _°F
" LmpCHvEZ1Z - _9F, _70)
18@, - _*C
B bppChul 7O _2F, _2C)
Z1.1111-_*~C
tmpCrn 80+ _2F, _2C2
| FAIW EAD AUTO =D 28./30
hofmann@lasalle.edu
rhofman@mc3.edu

Web Site: www.mc3.edu/gen/faculty/RHOFMANN
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Two Variable Statistics Example:
Mrs. O purchased a item in 1955 for $1200. Its value was $1800 in 1960, $2500 in 1965, and

$3100 in 1970.

and fit a curve.

If the value of the item were to appreciate according to the same pattern

through 2000, estimate the value of the antique in the year 2000. Input the following data

Go to the application key (APPS), choose 6:Data/Matrix Editor, choose 3:New from the

submenu.

Input the years in c1, input the value of the items in c2. Choose F5:Calc. Under

the Calculation Type, choose 5:LinReg. For the x catagory, input c1, use c2 fory. Atthe
Store RegEQ submenu, choose y1(x). Press ENTER to keep all the selections made. Notice
the box with the regression equation and the correlation coefficient. Press F2 Plot Setup,
then press F1 Define. Choose Scatter for Plot Type; Cross for Mark; c1 for x, and c2 fory.
Press ENTER. Make sure all other plots are turned off as well as all functions, other than
y1(x). Choose 9:ZoomData from F2 Zoom menu. To find the value in year 2000, use

1(2000).

AFFLICATIONS

FMAIN

Fir Fz F | F4 |FE |FE«{F?
Tools|Flek Zetup|Ce T Header|Calc|Ukil)ztat

FEAD AUTO FUMC 1/20

F:I.vl AFFLICATIOMS
Toerl

1:Home
2i%'= Editor
Efwindow Editor

1 5ra
S:Table

Folder:
VariabTe:

EXC=CAMCEL

-=‘=:- s..-::

DATA
cl C c3
1 q955 2
2 S f=1a]e]
3 Q955 | 2500
4 g?El nm L
rdeZ=3100 {EMersﬁw ]
MAIN RAD ALUTO FUMC HAIN
Fi

ESC=CAMCEL

EAD AUTO FUMLC
r mainsmrse Calculate

FUMC

STE

Sig
6 £

i
E £

=B

[

: Zoombec

Soaomlat.:

oot

oomSyr
oomStd
oomTrig
oor Int

SamE1

FMAIN

FEAD AUTO FUMC

Calculakion THpe....... 1 ] DHE'UEI""
21 Twollar
o Srnry RLEE PA E;EEbégEeg
Fr&q and Eﬂttﬂﬁl"l'ﬂ’
£t I tLhiea
u] 7 & Medted
24FPowsrEeg
o
FAIN RAD ALUTO FUNE
Fi-|_Fg F=1 F4 UFE (FEAFF E
Tonls <TAT YARS L Tools|2oom|Track|ReGrarhjMath|Dr aw|Fenf:2
BATA [ ooy :
1 =1zA.
1 b =-ZHd0ED,
COFF =.9oaciz
2 = =.9880zY
3
4 :
et
P Eersik 2 : 5 s e 1965, yc i 2500.
FAIN RAD ALTO FUHE HAIN RAD ALTO FLUHE HAIN RAD ALTO FURE

©Hofmann, 2001

Columbus 89

12




Fir | Fer | FF | F4 | F&=| Fa= |Froin Fi-| Fi- |Fe=| Fu= [ FE Fi-
T-:--:-1: 2oam|TEace|ReGrarh|Math|Draw|Fen]:2 Tools|AT3cbralCalc|0kher |FramiD|Clsan Ue
: f____.-i:l
= HewProb Dote
E u HIEEEIEIEI} &S0,
PxcE 1967, Ho i 2VEE. = k
HAIN FAD AOTO FUNC FIRIN — FAD AUTH FIMC T
3D Graphing
Fi- [ Fi-
[ = Hane ] Tools|2oom 1
[P-Jilt :IJP-JEI-z EIP-:H 3] eyed=20,]
erl=ms + y< Eded=rl,
| egeyp=>,
=3= min=-10,
== #max=10.
Z5= xarid=14.
TE= drmin=-16.
>7= umax=10.
. 72 0= garid-id.
HAIN FAD AUTO FUMC Erz0 | [MAN FAD AUTH ] T1RIM FAD AUTO E1]
By moving the arrow keys, the graph will rotate. To stop the rotation, press ENTER.
Fl-[Fe=| F¥ | F4 | F&= | FE=[FF-fE Fi-[Fe=| F¥ | F4 | FE=| FB= [FFEE Fe-| F¥ | F4 | F&= [ FE=[FFofE
Tools|2eam|TEace|ReGrarh|Math|Draw|Fen|:2 Tools|2eam|TEace|ReGrarh|Math|DEaw|Fen): 2oam|TEace|ReGrarh|Math|Draw|Fen]:2
TIAIN FAD AUTO E1] TIRIN FAD AUTH ] TWFE OF USE £37+ * [EMTER] OF [ESCT
F¥ | F1__|F&- E Flz| Fe- | F¥ [ Fu_ [ FE=| F&= [Fre}
GRAFH FORMATS Tools|2eam|TEace|ReGrarh|Math|DEaw|Fen):
-y h
HIDDEM SURFACE + "
H
Enter=sAVE ESC=LAMLEL
USE « AND + T0 OFEW CHOICES TIAIN FAD AUTH ]

OTHER GRAPHING TECHNIQUES
Piecewise Functions:

Xx>-1
Graph: f(x) = % 5 otherwise

Fix | Fi=| F3 F4 FEx | FB~ |F7=f%i
Tools|Zoem|Trace|Reararh|FHath|Draw|Fen):2

1

—Ha= : e :
g2iwd= HCEZ. gc i ~3F.
HATH RAD AUTO FUNC FIRIN RAD AT FUNC
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Script Using the Text Editor
Save your example as a script.

® HewProb ZAYE COFY RS
L Z Tupe: Text
[ B = Foldgr: main#*
g -4 Variable:
+ bt o=, EJ-C].E'EIF‘ Hare
ol uel gk E+hkxto =0, X soluve gk Zthdxto=0, 13 ol uel gk E+hkxto =0, X
MAIN RAD AUTO FUME =’ & FRIN RAD AUTO FUMC z' & | |MAIN RAD AUTO FUME =’ &
T T R L S U i WU M - -y . T— 1L S —Ta
Fi- AFFLICATIONE Fi-]_ Fer | F3=] F4 FE
o5 O | S[Laridn e EXeCUbe|Find...
Tl — Tools|C d|Vicw|Exccute|Fing
21Y= Editor C’”E“P”?b -
Zilindow Editor ithis is a script -d3c
4:Graph i %:E C:solue sk 2+bkx+o=0, 10
2Dt A Matrix Edit Li a3 :
ata-Matrix itore . ~
21 Proaram Editor * I: snlueta*x 24bdto=0, 00 -[[31 + 3] &1 )
1:Current HE———" 0o ¥ =
dq d4
Slly un
MAIM AL AUTO FUME 1°z0 HMAIN RAD AUTO FUMC MAIM RAD AUTO FUME

If you are starting on the script page: Press the APPS key and choose 9:Text Editor, then
3:New.

Use F2 to generate a command line and Enter to generate a comment line. Press F3 to view
the Script. Press F4 to execute each line in the script one a time.

Use F3 to clear the split screen.

Animation
Animate a small circle moving along the inside of a larger circle.
Fur Far 17 Fer F3r Fur F& Fa
- {— I:cunt.r*cul I/I:I el F1nd « [Miode ] + f#—|Alaebra|Calc|0ther|Franll|Clear a-z..
RO

fEscript to gener*ate pictures
tFar n. 1,7, 1iClrGraph

tGraph’ dkcosChy, desinity, b
fon—1kme Tk . .
tGraph 3kcosCki+lkcosCh)  Iksintkai+lssing

ESt-ErF'in: #i'jopic"kstringinal

ndFor " cugenc() Done
=Eﬁésg Eack FuclePic "jopic",v,.3.2, 1 ®CyclePic "jcpic", 7, .3.2, -1 Dokl
i "jepic”,?, .3,2,-1
AW FAD AUTO FAk AW FAD AUTO FAk &30

Far

F3 Far
- {— Zu:n:um Trace ReEr‘aph I"Iath Ot~z |+

- {— Zu:n:um Tr*ai:.E- ReEr‘aph I"Iath Ot~z |+

/\
\o/

HMAIN KAD AUTO FAFK MAIN KEAD AUTO FAK

1 Fev |_F% g FEw [ FG™ [F7
- E Zoor|Trace|RebGraph|Mat.h|Draw| -~ fp

dle
N

HMAlN EAD AUTO FAR
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How Big is an Acre?
Note: 1 acre = 43560 sq. ft.

Is an Intercollegiate football field larger or smaller than
an acre?

~
1})\%5 \};ﬁ\z&\\\§
SFACRANR RN,
_ GOAL LINE L
10 -
15 {——
20
25
130 i
35 H
40 i
25 1120 YDS
50 100 YDST—]
45 ’
Fie|F~| F2= | F4r| FE~x FB- Fre
40 Waps|FixiEaTus|Unts) = mbo 15| InEsFnak 1| Toals
35
30— 1.1 _acre
25 — AR _gd-1ell _ft F _acre
20 bd 40
15 i - _acke
: SB35
10 +
- mlOE _gd- 160 _fL » _acre
o 1.1 _acre
------ 160 OO - = =
'K\‘:\;}_\__é!\m ZONE \ A 100+ _yd+1 &0+ _ft¥r_acre
EL_\_;;_\@M HAIM RAD ALTO FUME 10,30

Random House Dictionary 2" Edition, 1987
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Transformations on the TI-89

This is a lab to be completed using your TI-89. On a separate paper, answer the questions in
complete sentences and draw the graphs neatly. Be sure to number your answers.

Part A: On the same axis, graph the following functions on your TI-89:

f(x) = x?
g(x) = x> +2
h(x) = x? -

|’F1 T Fev T Faw T Fa T FE T F& ] 1 Few FE*
- E Al gebra|Cal cj0ther|Pranld|Clear a-=z.. - E Zoar Tr*ac,E- ReGPaph Math Ot~z |+

m Define -F‘(x)=><2 Done
"Graph fxi+c|e=4-2 O 27 Dot
Graph Fix)+clc={"2.0 wo i, yot -2,
MAIY FAD AUTO FUMC Z/Z0 MAIY FAD AUTO FUHC

1. Describe what happens to a graph when a basic function, f(x) has a positive constant
added to it, i.e., f(x) + c.

2. Describe what happens to a graph when a basic function, f(x) has a positive constant
subtracted from it, i.e., f(x) - c.

3. Without using your calculator, predict what your sketch of the graph y = x* + 4 would look
like. Draw the graph using a pencil and paper.

4. Without using your calculator, predict what your sketch of the graph y = x? - 4 would look
like. Draw the graph using a pencil and paper.

Part B: On the same axis, graph the following functions on the TI-89:
f(x) = x°

g(x) = (x-3)°

h(X) = (x+3)*

Fz Faw
v{—Fllgebr*a IIHu—-r F'r*ngEl Elear‘“ a—Z..

1 Fev Faw | Fuw FE F&
- E Al gebra|Cal cj0ther|Pranld|Clear a-=z..

= Oefine -F‘(x)=><2 : Daone| |®D0efine -F‘(x)=><2 Dahe
B Grarh F(x)+c,|c, ﬁg&?gid Oane| |® Graph F(x)+c,|c,= -2 8 2 Dahe
Graph Fixd+cle={"2, 0. 2% Clr»Graphl
MAIN FAD AUTO FUNC /% MAIN FAD AUTO FUNE /30
|71E Fllgrér:-r*a CFanrc.ltltfPI!uEr* Pr‘rgsmIEI I:lnz-arEli a—z...] - {— ZEE:TN Tr*ai:.E- ReEr‘aph I"Iath D:*E;w - f
B Oefine -F(x)=x2 Dahe
mGraph flxi+c|c=0-2 B 2% Done
B C1rGrarph Dahe
" Graph F(><+b)|h— L Done
et 3, ucid.
FAD AUTO “FUNE 5 TRIN FAD AOTO FUNC
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5. Describe what happens to a graph when the argument of a basic function, the x of the f(x)
has a positive constant added to it, i.e., f(x + b).

6. Describe what happens to a graph when the argument of a basic function, the x of the f(x)
has a positive constant subtracted from it, i.e., f(x - b).

7. Without using your calculator, predict what your sketch of the
graph y = (x + 4)? would look like. Draw the graph using a pencil and paper.

8. Without using your calculator, predict what your sketch of the
graph y = (x - 4)* would look like. Draw the graph using a pencil and paper.

Part C: On the same axis, graph the following functions on the TI-89:

— 2
f(x) = .5x

— 2
90 =x°
h(x) = 2x
|’F1 T Fev Trsv]’ ruvT FE T F& ]rfi Trszrs T g TrsvTrsvTFr T ]
- E Al gebra|Cal cj0ther|Pranld|Clear a-=z.. - E Zoor|Trace|RebGraph|Mat.h|Draw| -~ fp

1

B Oefine -F‘(x)=><2 Dahe
mGraph f(xi+c|c=4-2 B 2% Done
= C1rGrarh Dahe
mGraph flx+b)|b=4-3 0O 32 Dohe
u ClrGraph Done
Graph a*fCx>la=¢.5%.1,. 2% wolZ, uciz2.
MAIN AL AUTO FUNE G50 MAIN FAD AUTO FUNC

9. Describe what happens to the graph of a function when the function is multiplied by a
positive constant greater than 1, i.e., a*f(x).

10. Describe what happens to the graph of a function when the function is multiplied by a
positive constant less than 1, i.e., a*f(x).

11. Without using your calculator, predict what your sketch of the graph y = 4 x*> would look
like. Draw the graph using a pencil and paper.

12. Without using your calculator, predict what your sketch of the
graph y = .25 x*would look like. Draw the graph using a pencil and paper.

Part D: On the same axis, graph the following functions on the TI-89:

— 2
f(x) = -.5x
— 2
90 =x"
h(x) = - 2x
Fev Faw | Fuw FE F& 1w _Fev | FF g FEw [ FG™ [F7
Al gebra|Cal cj0ther|Pranld|Clear a-=z.. + f—|Zcom|Trace|ReGraph|Math [Draw| -
Fie T LRI 1
mGraph fx)+c|e=4-2 O 23 Dot
B C1rGrarh Dahe
"Graph f{x+b)|b={-3 B8 3% Dohe
= C1rGrarh Dahe
mGraph a-fix)|a=4.5 1 23 Dot
u ClrGraph Done
Graph a*fix>la=¢{"-.5.1, "23% ®oiZ, uc! “2.
MAIN AL AUTO FUNE 7730 MAIN FAD AUTO FUNC

13. Describe what happens to the graph of a function when the function is multiplied by a
negative constant, i.e., a*f(x).

©Hofmann, 2001 Columbus 89 17




14. Without using your calculator, predict what your sketch of the
graph y = - 4 x> would look like. Draw the graph using a pencil and paper.

Part D: Use the general form of a function a*f(x + b) + ¢, and leta=-2, b=3 and c = 1.
Notice how each parameter affects the graph.

|’F1 ]’ FE™ ]’ Fir T 5 T FE T F& 1 FEx | F% &l FEx | F&* |Fr
- E HAlgebra|Cal cj0ther|Pranld|Clear a—z...] - E Zoor|Trace |ReGraph|Math|Draw|~ f

" CIrGrarph Dane 1
mGraph f{x+b)|b={-3 B 3% Done
B C1rGrarph Dahe
®Graph a-fix)|a=4¢-1 2 -3 Oote ,ﬁ
= C1rGrarh Dohe
= Grarh a-f‘(><+b)+c,|a= -2 and b=3 andp

Oahe

Mo i "3, ycil.

MAIN FAD AUTD FUME B/'300 TRIN FAD AOTO FUNC

15. Now go back and make the original f(x) = abs (x). Display the graphs of
a) f(x+2)

b) f(x) +3

c) 4 *f(x)

d) .25 *f(x)

e) -f(x)

16. Now go back and make the original f(x) = x°. Display the graphs of
a) f(x+2)

b) f(x) +3

c) 4 *1(x)

d) .25 *f(x)

e) -f(x)
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Script Using the Text Editor
Save your example as a script.

Fir E 3v P FE EE
| TN H SR EEH B grne |FFAmID)EGe o i

u HewF'r*-:-I:n Dorne
m2 g 2
BT h 3
L 3 -4
R
SdClear Home
sﬂlueia*x“2+b*x+c [,z =olvet ot e thdmt o= [,z
MAIN RAD AUTO FLMC ' B | |FAIN RAD AUTO FLMC B
Fir| #.- [i3v| i%vw]| FE i T ] Fi~ AFFLICATIONS
[T-:--:-lsTﬁhh E'-=-'*:.|-=:-s =-..|-$=':-. : 'l-F'r'Elr-'ulllll-::':% = i ﬁ-:--ﬂ 1: Home
i . : )
SAVE COFY A% Zi4= Editor
Tepe: Text ] Srblindow Editor
Folder:  main % [ %' %EE 2
Yariable: [ouad | | &1 DatasMatrix Editore
f1Prmaram Editor -
 CENteF=ZAYE cEscz=CAMcEL 3 )| ([ 1 Current.
o Y
soluel gk 2+thdx+ =0, %2 Elle ua
MAIN RAD AUTO FLMC z’ B | [MAIN RAD AUTO FUMC 1,30
Fir| Fz~ |Fz=| F4 FE
[T-:--:-ls]-l:-:-r-'ur-'u:lndTH'.thE:ctcuttIFind...T 1
I HewHrob .
o th15 i= a =script Cr-d43c
Cisoluelak™2+hdx+c=0, =0
(N 3':"|'.'n . 2
Ci-d+c
Lfsoluelatx™2thdnto=0, =0 _[m + 3] &1 -
: ME— g o W= b
MAIN RAD AUTO FUML MAIN RAD AUTO FUML

If you are starting on the script page: Press the APPS key and choose 9:Text
Editor, then 3:New.

Use F2 to generate a command line and Enter to generate a comment line.
Press F3 to view the Script. Press F4 to execute each line in the script one a
time.

Use F3 to clear the split screen.
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Inverse Functions

Define f(x). Solve y=f(x) for x. = Define g(y). Interchange x and y by writing
9(x).

Check using composition of functions.

Discuss the appearance of |x| in the f(g(x))

Fi- Fer |FZ-~| Fyr FE Fa- Fir Fer |FZ~| Fy~- FE Fa-
Taols|ATdcbra|Calc|0khsr |FrAmi0|Clsan Ur Toals|A1AcbrajCalc|Other|FrAmi0|Clean Uk

B Define Fix)=[x+1 Doke m0efine giul=y< -1 |'=I =
Bcolueliy = flx1, ®) Done
w=yf-1 and yxag| ["ICF=N ®
“Define alw=uZ-1|uza " Fiax) I+
Done| (@ F(aixi|= >0 ::-;

Fine gigr=g™2—-11 y=Q Qw0 | ek
HAlN RAD AUTO FLMC FED HAlN RAD AUTO FUMC FED

+FLOTE:

iy 1= )
ig2=gi )
I E=ET a0
“gd=gi{1x])

MAlH # FAD AUTO FUMC
ZoomSqgr. Zoom square to note symmetry about the line y=x.

Fir| Fe=| FZ Y FE- FErlF.'-':lﬂ ]
[T-:--:-15TE-:--:-r-1TTr‘-:c-z]F:tGr-:r-h]H-:thTDr-:w Finj-=

r
i
MAIN FRD AUTO FLMC
Try a second function. f(x)= ! f(x)=x?
2X +1
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